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0.0301008 1 0 TCP 50000 > 49153 SYN ACK Seq=0 Ack=1 Win=65535
0.0711264 1 0 TCP 50000 > 49153 ACK Seq=1 Ack=537 Win=65535
0.112581 1 0 TCP 50000 > 49153 ACK Seq=1 Ack=1609 Win=65535
0.154035 1 0 TCP 50000 > 49153 ACK Seg=1 Ack=2681 Win=65535
0.195027 1 0 TCP 50000 > 49153 ACK Seq=1 Ack=3753 Win=65535
0.195952 1 0 TCP 50000 > 49153 ACK Seq=1 Ack=4825 Win=65535
0.236482 1 0 TCP 50000 > 49153 ACK Seq=1 Ack=5897 Win=65535
0.237406 1 0 TCP 50000 > 49153 ACK Seq=1 Ack=6969 Win=65535
0.238331 1 0 TCP 50000 > 49153 ACK Seq=1 Ack=8041 Win=65535
0.277936 1 0 TCP 50000 > 49153 ACK Seq=1 Ack=9113 Win=65535
0.278861 1 0 TCP 50000 > 49153 ACK Seg=1 Ack=10185 Win=65535
0.279786 - 1 0 . TCP 50000 > 49153 ACK Seq=1 Ack=11257 Win=65535 |
0.28071 - 1 0 ' TCP 50000 > 49153 ACK Seg=1 Ack=12329 Win=65535 |
0.318928 - 1 0 - TCP 50000 > 49153 ACK Seg=1 Ack=13401 Win=65535 |
0.319853 . 1 0 . TCP 50000 > 49153 ACK Seg=1 Ack=14473 Win=65535 |
0.320778 | 1 0 | TCP 50000 > 49153 ACK Seg=1 Ack=15545 Win=65535 |
0.321702 | 1 0 | TCP 50000 > 49153 ACK Seq=1 Ack=16617 Win=65535
0.322627 | 1 0 | TCP 50000 > 49153 ACK Seq=1 Ack=17689 Win=65535
0.323552 | 1 0 | TCP 50000 > 49153 ACK Seq=1 Ack=18761 Win=65535
0.35992 | 1 0 | TCP 50000 > 49153 ACK Seq=1 Ack=19833 Win=65535
0.360845 | 1 0 | TCP 50000 > 49153 ACK Seq=1 Ack=20905 Win=65535 |
0.36177 | 1 0 | TCP 50000 > 49153 ACK Seq=1 Ack=21977 Win=65535 |
0.362694 ‘ 1 0 . TCP 50000 > 49153 ACK Seq=1 Ack=23049 Win=65535 |




